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June - Examination 2019
Certificate Programme Examination
Written English: Morphology and Morphemes
Paper - CTE-02

Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answers as per given instructions.

Section - A 10 X 2=20
(Very Short Answer Questions)

Note: This section will contain ten (10) Very Short Answer Type
Questions (one word, one sentence, and definitional type
item) having weighiage of 20 marks. Examinees will have
to attempt all questions. Each question will be of 2 (two)
marks and maximum word limit will be thirty words.

1) Attempt all questions
i.  Name the first purely English alphabetical dictionary.
i. Give one word for- ‘murder of a human being’-
(i) Homicide (ii) Patricide

(i) Matricide (iv)  Fratricide
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ii. My aircraft .................... in five minutes. Use the correct
phrasal verb-

(i) Takes up (i) Takes down
(iii) Takes off (iv)  Takes through

iv. Which of the following was not a rhetorician but contributed
to the field in his writings-

(i) Aristotle (ii) Cicero
(iii) Quintilian (iv)  Francis Bacon

v. They were late. We waited for them. Join these two
sentences to make a compound sentence.

vi. The children swam in the Chambal. In this sentence the
verb ‘swam’ is-

(i) Transitive (i) Intransitive
(iii) Incomplete (iv) Auxiliary
vii. The climate makes life really difficult. Identify the sentence

structure-
(i) S+V+DO+0OC (i) S+V+DO
(iii) S+V+10+DO (iv)  S+V+A+DO

viii. An abbreviation formed from the initial components in a
phrase or a word is called-

(i) Blend (i) Clipping
(iii) Acronym (iv)  Pseudonym
ix. Say whether the following sentence is true or false:

Simply putting a capital at the beginning and period at the
end makes a complete sentence.

x. Identify and write the dependent clause in the following
sentence-

We can catch the train if we hurry.
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Section - B 4 X10=40
(Short Answer Questions)

Note: This section will contain Eight Short Answer Type
Questions. Examinees will have to answer any four
(04) questions. Each question will be of 10 marks. The
weightage of this section will be of 40 marks. Examinees
have to delimit each answer in maximum 200 words.

2. Givefive examples of words that contain exactly one morpheme
each.

Enumerate six distinctive characteristics of derivational affixes.

Write the five basic patterns around which most English
sentences are built. Give two examples of each.

5. Say whether the underlined part in each of the following
sentences is a phrase or a . clause-

(i) The dog lay down on the floor.

(i) The waiter who served us has worked here for years.

(iii) As we sat down to dinner, the telephone rang.

(iv) The man ran five miles in thirty minutes.

(v) We will welcome whomsoever they send.

6. Enumerate the four kinds of sentences (by purpose) giving two
examples each.

7. What do you understand by code mixing. Explain with
examples.

Write a short note on objectives of narrative prose.

How does prosody help resolve sentence ambiguity? Explain
with an example.
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Section-C 2%X20=40
(Long Answer Questions)

Note: This section will contain four Long Answer Type Questions.

10.

11.

12.
13.

Each question will be of 20 marks. Examinees will have to
answer any two questions. The weightage of this section
will be of 40 marks. They have to delimit each answer in
maximum 500 words.

Write a detailed essay on Inflectional and Derivational
Morphology.

What do you understand by Compounding? Discuss the
Syntactic Approach, the Semantic Approach and Generative
Approach of Compounding with examples.

Discuss the three major sentence faults with examples.

Write an essay on the growth of English in India.
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